3 (Sem-2) BOT
2019

BOTANY
( General )
( Cell Biology and Genetics )

Full Marks : 60

Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

1. Answer the following questions/Fill in the

blanks : 1x7=7

w7 fRA1 2RPTER Ged fan/ 4@ 1% oRd 7 :

(a) In which phase of cell cycle mitotic

division takes place?

P SR (T &F TG b Rerem =7
{b) Which RNA is termed as soluble RNA?
@MY RNAF ¥dge RNA {1 o =47
{c) What is the unit of recombination?
AR 9FF 2

(d) When one gene masks the effect of
another gene, such interaction is

termed as .
afem b R o &R goR oFpre A
fin cerRIT R QPEF __ QI |
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(e)

(9)

(2)

The individual having an extra
chromosome is termed as .

e B (® @FRAR GCF FA® @RS
(R (S TS QWA |

Give one example of chemical mutagen.

IPRFATF TARIEE G- THIRAT

What is coding strand?
ALFS TN w2 [ 2

2. Write short notes on (any foun : 2x4=8

. GO Rt (R e BIRG) -

(a)

()

(c)

(d)

(e)
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Telomere

Penfiom

Aneuploidy
qafe

Incomplete dominance
Rkaw CE- S

Homologous chromosomes
TR E T

Ultrastructure of mitochondrial crista

TGl frem wifosda

( Continued )

3.

4.
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Answer any three of the following questions :

wors fran e R e fofAbre e o

(a) Describe the ‘clover leaf’ structure of
t-RNA.
-RNAT ‘F'S[@ & o9 Rea 3 +1 1

(b} Differentiate between B-DNA and
Z-DNA.

B-DNA S Z-DNAZ &d “143) 7

{c) Give an account of operon model for
regulation of gene activity.

R FRERe FER cvge SR =Ifdq
Ry foran

(d} What is linkage? State the significance
of linkage.
AZETS! % 7 TEIOR G S F40

(e) Give a brief account of salivary gland
chromosome.

SR 1o FXw W Ry v B
Answer any three of the following questions :

were i R e folb1 omm g i

{a) Describe briefly the ‘central dogma’ of
molecular biology and discuss the two
steps that involved in protein synthesis.

5x3=15

3+7=10

Sfde SRRSFR GrEe S fRaey wiemwed
el U O &0 STREErS Tew ¢y w1 PN
fREaa Seam $90)

10x3=30
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(4)

(b) Discuss the role of polyploidy in

evolution using specific examples. 10
FRIPS (IR PR R Boge Srmaepz
STl F91 |

{¢) What is thylakoid? Describe the ultra-
structure of chloroplast. 2+8=10
A 37 AR WS o9 [weg 3den
I

(d) Define crossing-over. Discuss the
mechanism of crossing-over with the

help of example. 2+8=10
R w1 R IS
THIZRPIR SCErsA 41 |

(e} Why are the genetic informations stored
in DNA? Write about the
semiconservative replication of DNA.

2+8=10

DNA® 391s [FEPR 1 ks ¢z g2
DNAT S3% e Sgom-d Raw o

() What is mutation? Describe ‘different
types of mutation. 2+8=10
Seofiadn 37 Rfen @R Teaficdw
e 41 |
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